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Which of the following terms represent the series of steps or the
procedure that scientists follow to investigate or solve a problem?

dpiall
© Hypothesis 2
O gl gilall
Scientific law b
alsl zgiall
O Scientific methods .
il
© Theory d
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In the figure there are two vectors. The first vector magnitude is ( 8 m ) directed
east, and the second vector magnitude is ( 5 m ) directed west.
What is the sum of the two vectors?

8m _
© 5m
(13 m)
O East — &
(3m)
O East — & &
b
(13 m)
o West - l-uf—
(3 m)
O West - l-uo
d
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........................... O Llal dpens 3¢l g "dgaial) de )
Newton’s first law of motion can sometimes be expressed as “the tendency
of an object to resist changes in velocity”. This is why it is called the
law of ............
b=l ¢l
O
Instantaneous acceleration
&Ll dbaxo
O
Net acceleration
b
il gl
@)
Inertia
oVl
O
Equilibrium
d
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What is the basic (S| — unit ) of temperature?
Celsius a
Jg=
') 4
Joule b
0 Culgiygs
Fahrenheit <
0 o5
Kelvin d
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Which of the following particle model motion diagrams represent the motion of
flying bird in the figure?

2 rg ,Q 7N

o . . el
O IS B
O [ o o o S
o K ]

1ofl 16/12/2020, 10:49



J) g il yain) https://sa.moe.gov.ae/Questions/Assessment/Preview/Universal ?smtre...

Jigw pahsiw] Q

No Limit [~ 1-1 [ ¢ B
' Free fall )=JI bgaull

.|| OJ'IJE.ADAJ‘LEJMLEJ@\JL}AJy'Ids&ﬂﬂﬁaﬁjﬁwjﬁ)&a}m‘ﬁa
¢ U W)l e 48 380 S8 ga Le (i WU alal gy 0O U8 (3.5 )
o) sed) A glia

A flowerpot (vase) falls off a balcony and takes (3.5 s) to hit the ground.
What is the height of the balcony?

Neglect air resistance.

aglill dual )l Slalsll oo o3l Loy ostial

You may use any of the given equations where needed.

a=9.8m/s?
D =D t+ ait

X=X+ Vi1[+ (%)a tfz

sz = Viz + 2a (Xf - Xi)

@) 60 m a
@) 8.5m b
@) 85 m <
O 16 m d
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The three arrows represent three measurements for an experiment.
Depending on the picture, which of the following statements is correct
regarding to precision and accuracy?

dbguowe g dausd Slwls

Measurements are preCise and accurate .a
dbguao e lgis) g dausy Slwls

Measurements are accurate but not precise

dbguow y g daysy pe Olwls
Measurements are not precise and not accurate .C

g6 ) lgiS) g Abgute Slulid

Measurements are DFECiSG but not accurate d
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The car in the figure travels from the Start point to the End point in a straight line
with a variable speed. Which of the following statements is true about the motion
of the car?

Begin End
FRIW] algdl
® ® ° ° ee

Ol oladly & Jladll (45805 Ao ) il
Speed decreases and acceleration is directed to the right a

el olaily laially (il & sl 5 dgaiall de ol
O Velocity and acceleration remain constant in magnitude and
both are directed to the right b

Sheall sl g el (555 5 depual) 3l 3

Speed increases and acceleration is directed to the left

Shasll oty bl (35S e puall i

Speed decreases and acceleration is directed to the left
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a="m

Two horizontal forces are exerted on a large crate of mass 160 kg. The
first force is (F; = 417 N) to the right. The second force is (F,= 273 N )to
the left. What is magnitude of the acceleration of the box?

_ Fnet
a=
417 N 273 N
(@) 2.60 m/s? -
@) 1.70 m/s? b
@) 0.90 m/s? .
@) 2.10 m/s? d
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$(t=4.0s) 5 (t=2.0s) On i)l s yul
The figure represents the velocity versus time for a moving object. What is the
Average acceleration for the object during the time interval
from(t=2.0s)till(t=4.0s)?
5 @ 45
4 E /
g /
T~ /
E 15 /
//
0.0 1 2 3 4
Time (s)
(s) ¢
@) (0.0) m/s?
'®) (+11) m/s?
b
o (+5.0) m/s?
o (+15) m/s?
d
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What is the correct formula manipulation to find acceleration (a) when using
the equation Ufz =v?+ 2ax ?

7 2
U'f - D
O
X .a
Ufz 5 Uiz
@) 2x
b
Vg - Ui)z
O 2Xx
.C
o ve + v
2x ;
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@ e 40l o Laa el ) ki levie | (v = 4.50 m/s) 4o s pail) 5 S Caale sai seal (S
dic s il € 10.0's W laie dyia 3358 JOA e e e w22l 8l jlall Tasi of J8 i ) e
€(10.0s) als syl oda Joa L giall ¢ L) Hlase Le | (ve= 0.95 m/s) duiledd)

Ahmad was running toward the football field with the speed of (v; = 4.50 m/s).
He felt he had time so he started to slow down, and he reached the speed of

(vi = 0.95 m/s) after 10.0 s. What was the magnitude of his average acceleration
during this (10.0 s) time interval ?

@) 1.80 m/s? )
O 0.712 m/s? .
O 0.355 m/s? )
@) 35.5 m/s?
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Figures
)

€ 72.5 cm (st AEN A8 Y (e gl

Which of the following numbers equals 72.5 cm?

7.25 X10™* km
@)
725 dm
O
o 0.725 mm
0.725 m
@)
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A cat took 15 s to go down a fence, whose height is (2.5 m), with a constant speed.
The cat stopped on the ground for 25 s, then suddenly jumped in 2 s up a box whose
height is (1.25 m) with a constant speed. The diagrams represent position versus
time curves. Which of the following diagrams represent the motion of the cat?

_E
E ’
V-]
O EZ
=
!
Time (s)
(5) 30
_ E
'g‘ —
‘ﬂ) .S
o Eg
a
L —_
Time (s)
(s) o=l
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6) (180 m) Leial ) Cul€ 13 aifise Jhse S5k o o jats ialal Agaial) Al siall e yull al5 <
¢ (9.0s) duiey sy A (3l olatly
A moving truck makes the displacement of (180 m) toward east in
a period of (9.0 s). What is the average velocity of the truck?

(12 m/s)
O East — 3,2
.a
(96 m/s)
O East — G )&
b
(40 m/s)
@) .
East — & 2
.C
(20 m/s)
@) -
East — B & g
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